% AL

Epk2 14211 H13H

S 4 = 7 v kXS
RFEEL REEEEEALRE EH ®
(=— KN%&HS 8086 HIFE « KFF& 1)
MEEL BUREREmE i %52
(TEL 06—6372—2331)

BAEtEORRFICET 2m b8

W OB ThH D, o) BERSHOYRE 2 149 AR ENHEWN-LE L
DT, BALEWEZLET,

1. eSS4

2. B &# Hh

3. & i

4. FEUMETTAEIS

AL

Yo U BPERRAUA AT

KIFBEETFEZ 2 TH3 2F&4 &

VPO SALEOBIESAETH 5581281 5 Mk o=t

20. 41%



45 ftt-hl‘ L |

e

CERk21598308 1)
_ (B FH)
il B ® %8 il B & %
(B & 0 &) (A & o #)

Pk ) & B 3,240,940 i Eh =1 &= 48,856
H e R U HE £ 3,240,174 X thoE AN B OFE 34,295
x I A & 281 x H B X B 10,059
& $h % 224 * O H B 156
2 8 s B & A 260 ¥ Y ® 4,346

] iE & B 1,398,900 & iE =1 = 2,020
FREEEE 264,433 B OY ® i £ 2,020
=4 ) 19,440
B2 Y & B & R 2,893
* i 242,100 8 & & &t 50,876
EETOHLDEE 1,134,467 (ft &8 & 0 %)

& & @  # 573,000 73 x & p. 3
&k = & & K 200,000 & ¥ & 495,000
E #1 8 ## £ 290,000 B X 8 x = 371,726
£ 8 71 #h & H 260 M OHE OB K £ 3,722,238
z ) fth 71,207
w B E & 4,588,964
' E & &t 4,639,841 BEE-MEESG 4,639,841

CE)EEHEHETFARBEVNVIETTRRLTEYET,




=

(ERL20F10A1BMLTM21F9A30BFT)

(B FH)
¥ H * %
BEEBEEOR
E OX I O
5t i = 6,552
2 X E H
RTEERV—RERE 99,211 99,211
B OX M &= A 92,659
BEREHNEZE O
2 OE 5 I &
= B Fl S 25,786
2 W & 4 £ 413,448
i3 I A 300 439,535
2 XN E M
52 h F IS 1,037 1,037
# 8 ® # 345,837
B sl At &% B @ A £ 345,837
EABR.ERBRUEER 71,946
=] # o E3l iF 273,891

CE)EEHEHETFARBEVNVIETTRRLTEYETS,




*; InEhS =
(ER20F10A 1B LER214F9A30AFT)

(BB FH)
hx B * MEESE

B X & | EXFHRE | FIREIRE (HRIEXEE
TH20£9 A30HESE 495,000 371,726 3,448,346 4,315,073 4,315,073

L B 4 0o T OB

£ H ¥ F i 273,891 273,891 273,891
4 8B b 0o T B OBE & & 273,891 273,891 273,891
TH2159 A30B8®E 495,000 371,726 3,722,238 4,588,964 4,588,964

G REHEHAEIFARBLEUYETTRRLTEYET,



(X DFFEE K]

(ER2149A30HEAE)
MR DIKR o
< JTRIE
SN BAF RO B ) N 71“@5%)\% ) :
B k| emwm | mean | TR0\ MEEATS T BA g | ERD)
Gl ’ BA
BEHAN) — — — — — — 2 2 —
AR B () — — - — - —| 990,000[ 990,000 —
AR RDES . — _ _ _ _ _
FE 100.00 100.00
[(K#%FEDIKR]
e e
_ _ TEA R BRI—x
R4 X (34 A A AU (BR) A HEHDEIS (%)
EH B |REATRURZRBFEMET14-1 989,802 99.98
£ B £ 5h |REEBR)IXREDNDE3-3-5 198 0.02
=t 990,000 100.00
[ZEDIKR]
(E2149 A 30HHE)
& 4 B 4 K % X4 AH B Fﬁﬁ(ﬁ)ﬂ%ﬂl
BRSO hC BEREE
BFN254% 88 ek
R . v = —7 ORI, K RIER
RE|EEFR %% B| KEISFE6H10A4LE BF1294% 78 *iEEXE(I:%L) =<1 989,802
#0584 11 B 21 R R IR AT ()
10411 H EBERME
iy g T {E8y {E5L| FBFN45F1282184% 198
T34 38 B AT ()
EMTE 48 EEGMIE
iy b T {£%% F=| BF21E2R1484% -
10411 H BT (3R)
EMTE 48 BT
BEEE® MR 54BN 8411 A 5B4E -
TRE134% 38 EEE/WMEIR)




